EARAROBEEIERT — 2 N— IBISH —F

2017118108 (&) 17EIEMH2H

m B2 #5%3m®L (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1 7% :800,000 ™ ~ 23#&:192,000  ~ 33#&:96,000H ~ 43#&:64,000” 5 3&:48,000 @
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FaULLF oL L] ;liqai 1:(3_1).5 4-4-3-2 | 39.6| — 1 :1_349) iméé (Gl
RILINA T A—H— B:LPXILY v b— [ =S
o = § EREE :31. -1-1- . — BEERSE (F)
57T 4 X —H 4 5 LT 1(/:\3;;5 1-1-1-1 | 39.8 4 (5_6;) ng%%
R:FATATv— BNLRRET HET7—L
y > 7| TRE 1:31.9 6-6-7-5 [39.6| — 7 453 | EEF— (FEH)
TA4¥vR2— “ 1 6.0 @ 1/2) (+3) | PR
R:T7I7U—b BEUNETUH K3t s
sov s ALEE : —7-6- — EREY (T
T4 LI 4— o4 2l 1(.13/22.)0 7-7-6-8 | 39.8 2 (5_050) $#§;
R:YPKYTYRIR BT )aH SEHRIS
= > HHME 132. -8-8- . - WEE% (EE
Nm5 o Fo—T £ 9 Em (1739270) 8-8-8-7 | 39.6 5 (5_032) ,%E) st
RTANKET Y2 BTU—FLLAIL () #HBI-—KL—Ya>AETy
75) 34 132, il . = #)l¥54 (Em)
slglg|7177—n—1t i 5 L (11332/43) 5-5-5-4 | 40.2 3 fso) 4:%1;
LY LTAN—b B:ZL/2XIA N 4%
SN o £ 6 | MiHED 1:32.4 3-3-4-6 |40.5| — 8 465 | /I (FEf)
71819 FrAIIKRY Y - 56.0 (4€) +3) EEEPI%?L
R:AAaoyLvyy B:Iq47))ienqd > HET7—L
=5 . 5 | ZEREX 1:33.0 2-2-2-3 |41.2| — 6 514 | RFIER (EA)
8l5l5|71F3IvT 54.0 (3 1/2) ) |BT
x40 B:7zUYTF1— RS
= o8 | Ati—R 1:37.2 9-9-9-9 |44.0| — 9 465 | &= (FEk)
9|7\ 7|77/ V=T~ 5.0 (514) () | FEES
RNTNALT7zA— B:T779>U1)— AHH BE
® I—F—@EBIERL
13—7F— 2,5,9,3,8,1,4,6,7
Ao=5"= 2,5,9,3,8,1,4,6,7
T =35r= 2,5,3,9,8,4,1,6,7
41—F— 2,3,5,8,1,9,6,4,7
[ RN
B 3 160 794K 2-3 310 & 2-3 1,180/ &R 1-2-3 3,520
# B 3 1204 -8 870M B E 2-3 1,030 EE g=2= 12,200H
2 320/ 1-2 2,040 B H 3-2 1,300
1 470M

ABICOVWTRDTEEERROODE. TR LIV,




